=
N = Ol &F 2 Al
S0a FOUASUALMBOFIISSEEN M
NIOFHS = AL 2t
FOIAS MBI (ASIZX/ASI =KL
FOIAS MBXR(FOULSNALMBONI|ZSHEI) CrRL
_ _ pSNE e
- H2A(AH) - NEAMY - BES ‘Oﬁ,‘\jg‘; Hws2
r 1,300,000 1,445,000 145,000
ME T (ASI =X/ AS = X 28 1,300,000 1,445,000 145,000
MEBXH(FOLSNALMBOHIZSES 1,300,000 1,445,000 145,000
£S5 NRAY 434,959 661,000 £226,041
st 11,512 8,512 3,000
01 A2l 11,512 8,512 3,000
OFULSNANZ YLUY 33 +42
50,000,000 * 20% 0,000
OFULSTNANZ MAESE L HAHEE 1,512
—YBUEY HHSSLSE XS
180,008 * 521 900
-SoesE S 1,20090 * 1021 12
~HRIE £ 7Y 200,008 + 1CH * 23 400
—ZEE ZH2al)
10,0008 * 1CH * 23| 200
o1t 1,800 1,800 0
2K Ol 1,800 1,800 0
OFUASTZ YR 22l ol
20,0002 * 2% * 82 320
OFULSHEER SXEA Ot
20,0002 * 2% * 302 1,200
OFUALSTANZ ATl 220t
70,0008 * 2% * 23] 280
sx3 300,000 630,000 330,000
DIt X2 300,000 630,000 330,000
OFULSXARNZ 8K
30,000,0002! * 107+ 7 300,000
ol bl 121,647 20,688 100,959
ol bl 121,647 20,688 100,959
OFULSKZ OIUIlHl 121,647,002 * 1A 121,647
MEOIY XIS 865,041 784,000 81,041
sty 3,300 4,200 A900
NEEIET 3,300 4,200 £900
OMEOHIIZ HAZXS L W2 3,300
—BAE U HHESELR
80,0008 * 1521 2,700
—ZRIED EY 200,00020 * 1CH * 23l 400
—2EE Sl 100,0002! * 1CH * 23] 200
o1t 1,300 1,300 0
ENTY 1,300 1,300 0




AN MOtSS AL
M FUAS WS (MISXI/ABI S XL
TS FOAS MEBXH(FOASHALMSOEI|SSHEH) (ctel@a
(=] X XH cCtel (s =] (3] HASX2 Al OH dEE m =2t
(AR

Odgetd = Mgit2tel 2o

20,0003 2% » 15 600
OMEotEAZ 22AME A 2teldl
70,0003 » 2 » 5 700
501 8Xt= 300,000 300,000 0
01 eItEXS 300,000 300,000 0
OH&otE = Xt 10,000,000& = 30Jt+ 300,000
801 0ilHIbI 560,441 478,500 81,941
01 olglyl 560,441 478,500 81,941
HEOHF IS oldl bl 560,441,000& = 14| 560,441




